
2𝑥
𝑦2

𝑥2

𝑦

= 

 
𝑎𝑏

2𝑎 + 4𝑏
3𝑎

3𝑎 + 6𝑏

= 

 
5

10𝑎
2𝑎 + 4𝑏

= 

 
𝑎𝑏
2𝑐
𝑏
4𝑐

= 

 
𝑝𝑞 + 𝑞
5𝑞

𝑝2 + 𝑝
= 

 

𝑢2−𝑣2

(𝑢 + 𝑣)2

4𝑢 − 4𝑣
3(𝑢 + 𝑣)

= 

 

 

2𝑥
𝑦2

𝑥2

𝑦

= 

 
𝑎𝑏

2𝑎 + 4𝑏
3𝑎

3𝑎 + 6𝑏

= 

 
5

10𝑎
2𝑎 + 4𝑏

= 

 
𝑎𝑏
2𝑐
𝑏
4𝑐

= 

 
𝑝𝑞 + 𝑞
5𝑞

𝑝2 + 𝑝
= 

 

𝑢2−𝑣2

(𝑢 + 𝑣)2

4𝑢 − 4𝑣
3(𝑢 + 𝑣)

= 

 

2𝑥
𝑦2

𝑥2

𝑦

= 

 
𝑎𝑏

2𝑎 + 4𝑏
3𝑎

3𝑎 + 6𝑏

= 

 
5

10𝑎
2𝑎 + 4𝑏

= 

 
𝑎𝑏
2𝑐
𝑏
4𝑐

= 

 
𝑝𝑞 + 𝑞
5𝑞

𝑝2 + 𝑝
= 

 

𝑢2−𝑣2

(𝑢 + 𝑣)2

4𝑢 − 4𝑣
3(𝑢 + 𝑣)

= 

 

 

2𝑥
𝑦2

𝑥2

𝑦

= 

 
𝑎𝑏

2𝑎 + 4𝑏
3𝑎

3𝑎 + 6𝑏

= 

 
5

10𝑎
2𝑎 + 4𝑏

= 

 
𝑎𝑏
2𝑐
𝑏
4𝑐

= 

 
𝑝𝑞 + 𝑞
5𝑞

𝑝2 + 𝑝
= 

 

𝑢2−𝑣2

(𝑢 + 𝑣)2

4𝑢 − 4𝑣
3(𝑢 + 𝑣)

= 

 

2𝑥
𝑦2

𝑥2

𝑦

= 

 
𝑎𝑏

2𝑎 + 4𝑏
3𝑎

3𝑎 + 6𝑏

= 

 
5

10𝑎
2𝑎 + 4𝑏

= 

 
𝑎𝑏
2𝑐
𝑏
4𝑐

= 

 
𝑝𝑞 + 𝑞
5𝑞

𝑝2 + 𝑝
= 

 

𝑢2−𝑣2

(𝑢 + 𝑣)2

4𝑢 − 4𝑣
3(𝑢 + 𝑣)

= 

 

 

2𝑥
𝑦2

𝑥2

𝑦

= 

 
𝑎𝑏

2𝑎 + 4𝑏
3𝑎

3𝑎 + 6𝑏

= 

 
5

10𝑎
2𝑎 + 4𝑏

= 

 
𝑎𝑏
2𝑐
𝑏
4𝑐

= 

 
𝑝𝑞 + 𝑞
5𝑞

𝑝2 + 𝑝
= 

 

𝑢2−𝑣2

(𝑢 + 𝑣)2

4𝑢 − 4𝑣
3(𝑢 + 𝑣)

= 

 

2𝑥
𝑦2

𝑥2

𝑦

= 

 
𝑎𝑏

2𝑎 + 4𝑏
3𝑎

3𝑎 + 6𝑏

= 

 
5

10𝑎
2𝑎 + 4𝑏

= 

 
𝑎𝑏
2𝑐
𝑏
4𝑐

= 

 
𝑝𝑞 + 𝑞
5𝑞

𝑝2 + 𝑝
= 

 

𝑢2−𝑣2

(𝑢 + 𝑣)2

4𝑢 − 4𝑣
3(𝑢 + 𝑣)

= 

 

 

2𝑥
𝑦2

𝑥2

𝑦

= 

 
𝑎𝑏

2𝑎 + 4𝑏
3𝑎

3𝑎 + 6𝑏

= 

 
5

10𝑎
2𝑎 + 4𝑏

= 

 
𝑎𝑏
2𝑐
𝑏
4𝑐

= 

 
𝑝𝑞 + 𝑞
5𝑞

𝑝2 + 𝑝
= 

 

𝑢2−𝑣2

(𝑢 + 𝑣)2

4𝑢 − 4𝑣
3(𝑢 + 𝑣)

= 

 


